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A. Find the correct Chinese meaning 1, 2, 3, or 4, that is equal to the phrase: (+ 42 4.5 » > £ 36 4)

1.

Today’s women are independent and demanding.
(A) ket A= AARHE B o

(B) Mkt < bz 2 g o

C) mien* A fh>r & f£3F o

(D) ket Ajph= ¥ RSP -

US. Women are heads of 40 percent of households with assets over $600,000.
(A) FAREB - Fehi B FEe? § 435 fued b o
@)péﬁﬁ~*am%n;@ﬁ¢4¢géﬁA;J

C) #M~F 4L kp FAALE + F DS

D) $MF Fachd 3+ P F hp FARE L §hFde-

My work doesn’t involve a lot of personal interaction.

(A) fen1 53 & 5 % R enip L EF o
(B) en1 T2 ¢ 7 % B i A ik o
(C) Aeh1 (T2 & 5 X Bk 4o
(D) el 5% & 5 A A %3 H o

4. 1 want to buy my wife a pearl necklace, but I’m shy of the purchase price.

(A)
(B)
(©)
(D)
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5. Let’s try to avoid duplicate orders.
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(A) *PEFELERTHE -

(B) st i@ d £ TH o

(C) AfpELP % 237H o

D) AP E@adsmH -

6. Industry leaders in Europe believe China’s currency is undervalued by as much as forty-five

percent.

(A) B L RATMARE ? Fend S E TS 54 R 1 55%

(B) e ¥R 2a4Ap iz ¥ WehA A ET 2 5857 45% o

(C) it L R AT Ap 5 ¢ Reh A R %@ 3 D412 7 55% o

(D) TV ¥ R AFA AR 2 ¢ BenA 8B @ T DAk (R 1 45% o
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7. Tom thinks computer programming is child’s play.
(A) Tom 25 % A& P 8% Z=egfh* o
(B) Tom %5 7 %K “fm%\J FZENTEER o
(C) Tom 323 T PadBsS ko] % sk 7Rk fj H -
(D) Tom 323 T %adk (F3eife] 32 endsphriik i 8 o

8. She spoke so fast, so her speech was over in seconds flat.
(A) st eing R AR F 0 Flet e i o B m e B i woe
(B) 4= g emid B AR F B0 Flt e i A K R o
(C) ¥ #HzE ik B AP P » F]pt e eF AR T (R o
(D) 44 3L ek R AR E B Tl b GNF LB AL (TR OE T o

B. Find the correct English meaning 1, 2, 3, or 4, that is equal to the phrase: (- 48 4.5 » > % 18 »)

9. RAJpF H - A o enI B 41 7
(A) Let me get this straight. You accidentally flushed your cell phone down the toilet?
(B) Let me get this strength. You accidentally flushed your cell phone down the bathroom?
(C) Let me get this strong. You accidentally floated your cell phone down the toilet?
(D) Let me get this smoothly. You accidentally flushed your cell phone down the bathroom?

10, A B ipApEig ¥ Bk A B R AR A S Y e o
(A) What was really exciting about my trip was the wisp watch that | went on
(B) What was really exciting about my trip was the woodcraft watch that | went on.
(C) What was really exciting about my trip was the wolf watch that | went on.
(D) What was really exciting about my trip was the whale watch that I went on.

11, 7R fiprpes # MmN g F 0 B e AR R .
(A) The artist was able to present the modern painting into a mental sculpture.
(B) The artist was able to translate the modern painting into a metal sculpture.
(C) The artist was able to calculate the modern painting into a metal sculpture.
(D) The artist was able to manipulate the modern painting into a metal sculpture.

12. Bill sz is % 17 1245 o
(A) Bill is confldent she did well on the test.
(B) Bill is interrogative she did well on the test.
(C) Bill is positive she did well on the test.
(D) Bill is frank she did well on the test.
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C. Read the question below. Write an essay in the official essay paper. (% 46 & » 3 %248 # 4L
A TEE)

Some people say that it is good for students to have jobs. Others say that students
should spend all of their time studying. Compare each position. Which statement do
you prefer? Why? Use specific reasons and examples to support your answer.

Note: The essay will be evaluated for content, grammar, and organization. Be sure to
1) write an essay of no less than 150 words. (10%)
2) write an introduction that phrases your personal views about the statements. (8%)
3) write a body content that compares the advantages of each position. (20%)
4) make a conclusion of your own position. (8%)
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